HSC 2001 - Information Processes and Technology

Question 18

18  An analysis of the criteria for the award of certificates resulted in this decision table.

Conditions Rules

Junior subjects completed 26 | v |V |V |V |V |V | X | X | X | X | X
Senior subjects completed=5 | X | X |/ |/ | X | X | X | X |/ | X | X
Senior subjects completed>5 | v |V | X | X | X | X |/ |/ | X | X | X
Special subjects completed>1 | v | X | X |/ | X |V |/ | X | X | X | V/
Actions

Issue junior certificate IV XXX XX
Issue senior certificate IV VI XIX T XX XIX|X]|X
Issue certificate of attainment | X | X | X |/ |V |V | X | X | X | X | X

Which of the following conditions will result in a certificate of attainment being issued?

(A) Completion of less than six junior subjects and more than five senior subjects
(B) Completion of at least six junior subjects and less than five senior subjects

(C) Completion of at least six junior subjects and exactly five senior subjects and one
special subject

(D) Completion of less then six junior subjects and exactly five senior subjects and one
special subject

Choice | Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6
A 9.6 5.8 2.7 1.3 1.8
B 24.3 23.3 24.9 37.5 46.4
C 51.1 59.5 65.5 55.5 50
D 14.7 11 6.8 4.7 1.8
N 04 0.4 0.1 1 0
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The table and graph show, for the groups of students whose marks in the examination corresponded to the
borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is used to
identify: No valid response.
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